d(BARIL FE)

FEARILEF Y b

=

EEM BEEEERE A txB d WAL AT b C H
15A 21.7 1.8x25 | W3/8 M6 x 20 24 77
20A 27.9 1.8x25 | W3/8 M6 x 20 24 77
25A 34.0 1.8x25 | W3/8 M6 x 20 24 86
32A 2.7 1.8x25 | W3/8 M6 x 25 24 88
40A 48.6 1.8x25 | W3/8 M6 x 25 24 91
50A 60. 5 1.8x25 | W3/8 M6 x 25 24 98
L1
+
N
\+/
Ao BE O ER ROMEX BN\ RE AT
"R SPHC REILE A NSO o RE 1
%5 HE wRE BE A%
F=A%
BE 10110010109 RevNo. \ 1=2
.24 . SHEET
meE AR AT YIRINELL srsxsm| A3

INTEC




